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(1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

™R - I /PART -1

R T3 wm@l emgaf%. 30x1=30

M O

EoTa @Jaéi SRS @oﬁ%ﬁ@Q maﬁmci mgpmm& &30 msg Clnle] @oﬁ%oda

309325 W), VRN YWITB/I), WICW0.

Answer all the questions.

Choose the most suitable answer from the given four alternatives and write
the option code and the corresponding answer.
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BRT DeRT* éep@ QBT 20T YV RO :
(@) <NENT By (b) Q&I D () QW By (d)
Cod liver oil is a very good source of :

(a) Vitamin B, (b) Vitamin D (c) Vitamin B (d)

2T zéaza%abd% Qdmol 2PRPORT :

(@) Lo Fooce (b) =PEICI®

() =08Rw (d) oeRer 30
The small pox vaccine consists of :

(@) Oncho Virus (b) Vaccinia

(c) Variola (d) Measles virus

BORWT B¥3eIT Fe3BX BITED ?

(@ &9 (b) TR

(c) 2T 28 (d) RTIET,
What is the name of mobile genetic element ?

(a) Pili (b)  Plasmids

(c) Barr body (d) Transposons

w—@ommé@ lnteleln] w%%ommgﬁ :

(@) Pz (b) TOITE NOH
(c) ™Y (d) DR g

¢ %
B-lymphocytes are produced from :
(@) Thymus (b) Lymph node
(c) Spleen (d) Bone marrow

BRTIIY TG O FORBV ATLRA ;ST TRT MO

(@ 170 ml (b) 550 ml (c) 200 ml (d)
The volume of cerebrospinal fluid secreted per day in human is :

(@) 170 ml (b) 550 ml (c) 200 ml (d)
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Vitamin B;,

220 ml

220 ml
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BRID ERBVRCEREDT 14 D) 15 38 MHOTZ, BSARAT

-0

(@ € (b) D () E (d) F
The human chromosome 14 and 15 are represented in the group :
(@ € (b) D () E (d) F

0333 3TTOT W FRF FWONTY @8 TRF MoZE, LST0INIT 2

(a) T (b) &E8P03P
() LT e (d) ReTy e
Which type of fish grow to a large size in shorter period ?
(a) Carps (b) Tilapia

() Cat fish (d) Sport fish

®,TONT AYIODT TeTTTNEBTE

(a) TWORT [0 (b) AV.Ro®

() FoInTRFODO (CHRNCTNION ooy yleles
The natural pacemaker of heart is :

(a) Cardiac muscle (b) AV node

(c) Myocardium (d) Sinu atrial node

VREHRET TYROIN Y O LTI :
(@) BFF e (b) Do QeI ()  MOTW (d) ooges
The parental care is seen in:

(a) Discus fish (b)  Angel fish () Gourami (d) Platy

HCLS 30500 QT3 $vmos Rredodm, aB000 TERwmEE

(a) B (b) esém%w

(c) INBERT TJHT (d) ©RTBRE® LOMPO3NE
The wall of the stomach is protected against the action of HCI by :
(a) Pepsin (b) Lysozyme

(c) Mucous layer (d) Adipose tissues
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16.
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DRIRIFTONT BFOF) VBE, TVTOTIMET
(a) ©WeA® (b) o3TewosT (c) &I (d) exBoocdm
The kidney failure leads to :

(a) amnesia (b) uraemia (c) anaemia (d) leukemia

QBBARPLRIT N ToFDORIFN
(@) 7R (b) EFEedRWT (o) Bgedess (d) 3gedw
Immunoglobulins are chemically :

(@) glycogen (b) lipoprotein (c) glycoprotein (d) glycolipid

BRBRTFRY) Q0T TEIBRORD :

(a) R (b) oBweeF (€ oy (d) e—ji&f@oﬁm
The minorca is originated from :
(a) Spain (b) Europe (c) Asia (d) Australia

3REPION T JRRBT IRTO 3 OINYY TJZ TBTVPIY) -

(@) 30°C (b) 28°C () 32°C (d) 33°C
The optimum temperature of the artificial brooding of chick during the first 3 days is :
(@) 30°C (b) 28°C (c) 32°C (d) 33°C

OFTOSEOD BT, 0w TOTYVORT, 03T VT HTRAT ?

(a) ©PRRFTE (b) .. BOYT
(€) AewPe’ T (d) 2.3 TEF
Who developed the concept of genetic drift ?

(a) Lamarck (b) H.J. Muller

(c) Sewall Wright (d) G.H. Hardey

o3 d§ RLN) 52@5&3 di&@zﬁeéoﬁa&(& @dozjbxbgd 2

() SO0 ©EFO (b) TO[O TP
(c) wsbtoy (d) BrZeTO AT
Which blood vessel begins the systemic circulation ?

(@) Pulmonary artery (b) Pulmonary Vein
() Aorta (d) Coronary Sinus
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(a) @RS’ (b) Tordonwz® BPOOIT
() ©MBBPRRLOSEB00ID (d) ToSHWoI
Total absence of plasma cells causes :
(@) Albinism (b) Huntington’s chorea
() Agammaglobulinemia (d) Thalasemia

cﬁéma—f TOQOID 33 FoOTHONY YT FoORFARVF LRTT

(a) TORT WBeTI (b) =oDF, TOD
(€ P TED (d) DZRo80DY
The thymus gland functions best during :

(@) Early life (b) Adult age
(c) Middle age (d) Atrest

QEORFTY VOB O3V TN DEONFY) JELONT), YOTVORTT ?

(a) wBRRETT (b) SRICDE

(€) HEiRTORI® (d) DBODS” RO’
Which part of the sperm produces energy for the movement of sperm ?
(a) acrosome (b) . nucleus

(c) mitochondria (d) axial filament

BRT QeOT QRPN :

(a) =N (b) Be=

() P, N ERW (d) eP03m
Brackish water fish are :

(a) Mrigal (b) Rohu

(¢) Madavai and Koduva (d) Tilapia

3O BEOLIL) VWO BT QOETI R, SO FTONTYT

(a) BRIpeBIEO® (b) RouhRo

(©) TFRFFeTS (d) TomECRAT 88
Injection of pituitary extract to induce breeding is known as :

(a) homogenizer (b) centrifuger

(c) hypophystation (d) chemical treatment
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Bour wony) A SSAT :
(a) TBFEST, Bowex (b) 2RRART® 0L
() AYwe WoTWAT H0LeT (d) eBR00DS® HokeT®
The organ of corti is located on the :
(a) Reissners membrane (b) Basilar membrane
(c) Scala tympanic membrane (d) Tectorial membrane
T Q0T YORTOTY) :
(@ >05% (b) > 0.65% () <0.5% (d) >0.98%
The fresh water salinity is :
(@ >05% (b) > 0.65% () <0.5% (d) >0.98%
20H TPOD [ :
(a) wBewo (b) 3oV (c) Jozwr (d) =docdwE
The home of Sindhi breed is :
(a) Baroda (b) Karachi (c) Punjab (d) Hariyana

TORRCBAT T, RO BT FTOHWOTHIT

(a) ©SOWTWCWTLT TIVHFERD (b) FHpFEIBRCT
() exesdeson” (d) &edera
The vasopressin is otherwise called as :

(a) Antidiuretic hormone (b) Progesterone
(c) Leutinizing (d) Oxytocin

O30 SN FeT0N T[T MOPON), YVITIBED BFF NS ?

(a) T e (b) P03 () =yne (d) Bem
Fishes that are capable of directly breathing atmospheric air are :

(a) Cat fish (b) Tilapia (c) Mrigal (d) Rohu
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TTWOT® 20T BIDTRCTT, 85 BeTBRCBNYY TRBIT

(a) AR (b) OoFeeAE,

() SRR, (d) SeBeFEEnsd
The heparin which is an anticoagulant present in the cells of :
(a) Basophils (b) Lymphocytes
(c) Neutrophils (d) Monocytes

FINTRINTY 0IRTD AOTT WAVTONT ?

() AT Toww FHIYE (b) 3ZRBR FHTL WD
(€) omeon Hp8ed & (d) =moxI

Which of the following is a fuel gas ?

(@) Sulphur penta fluride (b)  Chloro fluro carbon
(¢) Carbon monoxide (d) Hydrogen

%IF0B0NY e FONBBI, doeriom FTOIWTT

(a) e TR (b) 23 BRLRBTED

() eI wIFOL, (d) 28

The collection of genes in a population is called :

(a) gene pool (b) gene accumulation
(c) gene population (d) genome

ODF ) THHY) BIORDORNEY TOWWIT FRITWTE

(a) 3% (b) RAex
(c) ARFE (d) 73T
A polysaccharide found in liver and muscle is :

(@) Chitin (b) Cellulose
(c) Starch (d) Glycogen
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won -II /PART - 11
AouS 1 cImRTEIR 15 TINTE, YWIDA.

Note : Answer any fifteen questions.

31. Gt 33 3830H GUBCRENTYD 0IRRT 2

What are the uses of root canal treatment ?

32. 66&3:5 @?f@mﬁo oSRR)w) ?

What are the symptoms of Rickets ?

33. BRJT ROSLT TTIT, W00

Define the term Chronic Bronchitis.

34. DAERTRFONY YT TWCHT Q0TI 2

What is Myocardial infarction ?

35. REM Q30 wij Bodmmon 203000,
n w o

Write a brief note on REM sleep.

36. &30 éﬁﬁ@fv ROTTERD ?

What are auditory ossicles ?

37. BRJERS @oS@Sodao m@g BRTER® Cﬁ@%ﬁ@i DOT3E ?

What are corpus luteum and corpus albicans ?

38. DBT TRENTOETOD DTOIND BRI ?
What are the methods of diagnosis of AIDS ?

IV' CAREERINDIA
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44.

45.

46.

47.

3R 0FRITY BWBT'I DFRAFRY, 2I0W0.

Write down the observations of Medaver in transplantation technology.
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OTOHT QOLEOHOOTTIY YVTOIRENZT CIPPYTOTIR TR ATINTI, SFRDR.

Mention any three tools used in genetic engineering.

BREAONT(¥WeR) 8 WRVIROSNW 03R)RY) ?

What are the merits of cloning ?

REROTY T (VRBT DSTF) 0BT DIFE 9

What is meant by Seeding of clouds ?

-
mopéorv‘ wwamc{ méméés?o.

Define the term Swarming.

Lot B0 CIPRYTOTTR R DBER VFLNIR, TTROR.

Mention any three distinguishing characters of Ongole breed.

BRETWS (LWRBON®) 0TI ?

What is brooding ?

BBRRLT S QOTOIRENNT 03I ?

What are the uses of stethoscope ?

BRTRIT 20TV ?

What is propolis ?
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48. ©ARCTOLT TEOI JOTLT 2FECN0T L3e303NG IJeR ?

How does allopatric species differ from sympatric species ?

49. TOT DOTH CIWPTE, FTOINTT ?
What is called Hapa ?

50. mds 200 @ég@os ﬁ@sﬁﬁm& RO,

Mention the nutritive value of edible oyster.

on - III /PART - III

Bews 1 swRodamen ww30RSeleE TY, 56 W, FeOWOZ INPYTRICR D TIRAI,
YOZOR. 7x5=35

Note : Answer any seven questions including question no. 56 which is compulsory.

51. B[NOIRROT SRINY MOLDTHEIFOD TOSNTI, DTOR.

Explain the phases of healing of bones in fracture.

52. DRIRIFTONTY TN Tert 3PoITH 7 0D DT 80N, ITRDA.

How does kidney stones develop ? Mention the symptoms and treatment.

53. méz%aom SOTORT Wil TOND.
el = n

Give an account on bacterial genetics.

54, $R03R. ARI0H0F ARUER, BIBROAT DA,

Describe the Scolex of Taenia solium with diagram.

55. Jotd QUBTROD TOP) VTN, [T WPYNY w83TY IDTBATY, WICW0.

Write the various symptoms of graft rejection and its clinical prevention.
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LReT ATIYOD TREGT TRONTT, 2TAWO.

Write about the preventive measures of ozone depletion.

z%é)ﬁ de@cjééod) ORI FOCEONYTY, FOFTIN DWOR.

Briefly describe the reasons for decline of bio diversity.

BeRIJRED LT CIPIYTIVTWEL VT YOTOILENNT, TVROA.

Mention any five uses of Bee wax.

Jeonh SuRonT, ITOR.

Describe the formation of silk.

DT Bokch SEHIE BOFURNTRD, Q[OL.

Describe the modern concepts of Natural Selection.

e%g%egp@s aéeiﬁmf& SRR ?

What are the prospects of Aqua culture ?

CPQOIT WRTPOWTIT IC3RTVNTAD (QFT) SRR ?

What are the bionomics of Tilapia Mosambica.

@on -1V /PART - IV

Bews 1 O3RRYTRETR Ty, TINTW, YOTOR.

Note : Answer any four questions.

63.

64.

Reg TRYY 2ecor 300D JFOHORAT, DTOR.

Describe the process of digestion in small intestine.

55?95 [YETOTT TBRCANWD DB, BRNY FOTRWRE TINY i TWOG 2TBOWD.

Write an essay on refractive errors of an eye and their corrective measures.

6701

4x10=40
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65.

66.

67.

68.

69.

70.
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BT AOPOZED BOPNE 27} FTOT WTOWO.

Write an essay on birth control techniques.

SFYOR® BeWT WTWI, WWOA.

Describe the life cycle of Ascaris.

ﬁé@s—agmérwa; w; 203000.

Give an account on bio informatics.

9TTO0NTVO @523571%3 @5?5%0335{1 QN[O

Describe the management of hazardous wastes.

N BT LAONY D) BOXTT 30 @YY TOTORNY 27} FTooy BoW0.

Write an essay on green house gases and their impact on the environment.

SRR BAONY FeOT B9 FOTTF PO, WB[OA.

Describe induced breeding in fish culture.

-00o0-



